
Milk

Call:

adonis(formula = d ~ heard.ID, data = v, permutations = 9999) 

Permutation: free

Number of permutations: 9999

Terms added sequentially (�rst to last)

                          Df         SumsOfSqs       MeanSqs      F.Model           R2                Pr(>F)  

heard.ID          9            1.1255                0.125060       3.293          0.35864        1e-04 ***

Residuals        53          2.0128                0.037978                           0.64136           

Total                 62          3.1384                                                             1.00000  


